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#include<stdio. h>
#tdefine N 4
#tdefine Mo 999 /*IERR A/

int wINJ[N]={{0,9,4,M}, {M, 0,M, 9}, (MM, 0,2}, {3, 1,M, 0} };

int

d[N]={0, 0, 0, 0}, S[N]={0, 0, 0, 0} ;

void add(int u, int *S) {S[u] = 1;}

int

{

int

int

remain () // V=S is still not empty?
int i,
for (i=0; i<N; i++) if (S[i] == 0) return 1;

return 0;

select_min()  // select u such that (min d[u] && iEV-S)

int min=V, i, u;
for (i=0; i<N; i++) {
if (S[i] == 0 & d[i] < min) {

min = d[i]; u = i;

}

return u,

member (int u, int x) // <u,i>EE & ieV-S
if (wlullx] !=M & S[x] == 0)

return 1;
else

return 0;

void Dijkstra(int p)

{

int i,u, x, k;
add(p, S) ;
for (i=0; i<N; i++) d[i] = wlp][i];

2008



while (remain()) {
u = select_min();
add(u, S) ;
for (x=0; x<N; x++) {
if (member (u, x)) {
if ((k = dluJ+wlul[x]) < d[x]) d[x] = k;}

}
}
}
main ()
{ int i, j=0;
Di jkstra(j);

printf (“*shortest distance from node %d¥n”, j);
for (i=0; i<N; i++)
printf(” to node %d: %d¥n”, i, d[i]);



